SN S e 2

-

Ny m) (1) ey

JZ [ / A M}

ﬂ/@ KX Xt JA»]/&“

:ijgw X /ujatw

rﬂ.dad

q/“‘*)(

-

“f[f/z (~x>&]¢&=f[f A]w



Mgﬁ (/Hx) ~"

CA~
>0 /|/"= 4 AS =

=3
< L (a+y)- ( x+4) - x *@//

14
A4 X

U}

X



A0A jeol. PR X= O (0 eI)

SE SoulTEA = O ( 5 o0 = D+0 .,.0.,.“.)
So =0 = b4 [ -0~+C
O = &
(& :=‘//
> A T i (”)"‘*" )(,k*d
~=p F‘OIﬂN-‘n) )







<|e

)

)




n

/)







( PlEScA’
oML, = é{
, 42429)













A lem xl +&q 2| torxd C,

,z—?l=@ = £ - & =

- (c—nx/°2

{;,..2/ = lew ¥/ @Cﬂ / i += anc

PR1Pa D &
% 2o a s roo

Z-? = CPoN

9 = 2 - (£ Cenx

(j:-z JE BES, , DosThacta Ho verB oa [£= 0)



14 9% xg (1+x7) 5'= O

3
]
\S—'
n
AN
-1'
U







B
1
~
g
+
0
~

)/X"+4
- (x/
(L%M— . /Z\ m: = A W")L + C/J
I/ - €y
N7 A
X




/1~+M'->( s M~ N/ .




’ —) 40
A (4 e . L
f,w(ﬂmm) oo fx = —

' &= LM 4
f - / AL =
[ﬂv‘«"” At> % A -1

= -4[+C = %\ /LM—//“‘ C

f;’-’-/&,-? L v + .,






UEL2E pof. pD 2A04 ,U//

; = & X

JE LES.

('ﬂ"-ﬂ4 ks O)









?’e atyy + bcy) - ‘(7’-
A= ¥ \4 )

A 7 . Z
91'







£= 3
At-» §/&
2Ae2 e

a4
__f.,.{.',u. jl,ﬁ. X
/{/\f)(lfe = 6 =
—_— o ~—
X
) P X T
) /6
X AA x X %c
e = . < - —-,
x\] x _F /
</M-°Zz =z < f



/V\"é /"-’;4 '
/V":-e‘ v = d
. &
Z-(t e -& )+ & =
2-et (F-4)+r€ -
et (x-2) +c
B *
= e = e ( x-2)+C
X
='/u_= X—Z"‘C@ T a;




	Stránka 1: XII 6-8:00
	Stránka 2: XII 6-8:08
	Stránka 3: XII 6-8:12
	Stránka 4: XII 6-8:15
	Stránka 5: XII 6-8:19
	Stránka 6: XII 6-8:22
	Stránka 7: XII 6-8:27
	Stránka 8: XII 6-8:30
	Stránka 9: XII 6-8:33
	Stránka 10: XII 6-8:37
	Stránka 11: XII 6-8:39
	Stránka 12: XII 6-8:45
	Stránka 13: XII 6-8:48
	Stránka 14: XII 6-8:51
	Stránka 15: XII 6-8:54
	Stránka 16: XII 6-8:57
	Stránka 17: XII 6-9:00
	Stránka 18: XII 6-9:03
	Stránka 19: XII 6-9:05
	Stránka 20: XII 6-9:08
	Stránka 21: XII 6-9:11
	Stránka 22: XII 6-9:14
	Stránka 23: XII 6-9:17
	Stránka 24: XII 6-9:20
	Stránka 25: XII 6-9:22

